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7. qulvalence ClassegAet A ={0,1,2,3} and let

r= {(0.0),(1,1).(2.2),(3,3),(1,2),(2,1 , 3,2 (2,3), 3,1 (1,3
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(a) Verify that r is an eqmvalence relation on A. ( C& E‘/__S \(ﬁ—l@

equivalence class of ¢ under r. Fin{ ¢(a) Byr each element a € A

(b) Let a € A and define c(a) = {b € A_Lgqrb}. c(a) is called the
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(c) Show that {c(a) | a € A} forms a partition of A for this set A.
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(d){Let r be an equivalence relation on an arbitrary set A. Prove that
the set of all equivalence classes under r constitutes a partition of
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